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     ÜÈÛ½ÛÛ•Û-I/SECTION – I 20 

 ¶Ûà˜Ûé …Û¸ÛéÅÛÛ þùÁéõïõ ¸ÛóÊ¶Û¶ÛÛ ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ›÷ÈÛÛ¼Û …Û¸ÛÛé :ö 
 Answer each of the following questions by choosing from proper alternatives given 

under them : 

 (1) Š¸ÛïõÁõ¨Û¶Ûà ÍÛ×Áõ˜Û¶ÛÛ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛÛ ÍÛÛȩ́ ÛÛ¶ÛÛé¶Ûé ’õ¾Û¾ÛÛ× •ÛÛé¥øÈÛÛé : 
  1. ¸ÛÛªÛÛé ¸ÛÁõ ¸ÛæÈÛë“Û¨Û  

  2. ïõÅÛ¾ÛÛé¶Ûä× ÍÛ×̧ ÛÛþù¶Û 
  3. ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ …¶Ûé ¸Ûó¾ÛÛ¨Û½Ûæ©Û©ÛÛ¶Ûà Í¬ÛÛ¸Û¶ÛÛõ   

  4. ©Û›÷ßÛÛé ³ùÛÁõÛ ÍÛ¾Ûà“ÛÛ 
  (a) 2, 1, 4, 3 (b) 2, 4, 1, 3 

  (c) 2, 1, 3, 4 (d) 1, 4, 2, 3 
  Arrange in order with reference to construction of a tool : 

  1. piloting on subjects 

  2. editing of items 

  3. establishing reliability and validity 

  4. expert opinions  

  (a) 2, 1, 4, 3 (b) 2, 4, 1, 3 

  (c) 2, 1, 3, 4 (d) 1, 4, 2, 3 
 

 (2) …Û Š¸ÛïõÁõ¨Û¶Ûà ¾Ûþùþù¬Ûà ‘Ðüïõàïõ©Û’ ¶Ûà ©Û¸ÛÛÍÛ ïõÁõà ÉÛïõÛýÛ ™öé. 
  (a) ¾ÛæÅýÛÛ×ïõ¶Û ¸ÛªÛ (b) ÈÛÅÛ¨Û ¾ÛÛ¸Ûþ×ù¦ø 
  (c) …ÛéÇ”ÛýÛÛþùàõ  (d) ’õ¾Û-¾ÛÛ¸Ûþ×ù¦ø 
  Inquiry about facts can be found with help of this tool. 

  (a) evaluation letter (b) attitude scale 

  (c) checklist (d) rating scale 
 

 (3) ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ× ÍÛ×ÉÛÛéµÛ¶Û ÈÛ¦éø Ü¶ÛýÛ¾ÛÛé Š¸Û›ÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
  (a) ÈýÛÛÈÛÐüÛÜÁõïõ ÍÛ×ÉÛÛéµÛ¶Û (b) ¾ÛæÅÛ•Û©Û ÍÛ×ÉÛÛéµÛ¶Û 
  (c) Ü’õýÛÛ©¾Ûïõ ÍÛ×ÉÛÛéµÛ¶Ûõ  (d) …Û ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÜÐü 
  Which types of research generates the principles ? 

  (a) Applied research (b) Basic research 

  (c) Action research (d) None of these 
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 (4) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ¸ÛóÛ¬ÛÜ¾Ûïõ ÍÛ×þù½ÛÙ ÍÛÛÜÐü©ýÛ ™öé ? 
  (a) ¾ÛÐüÛÜ¶Û¼Û×µÛÛé (b) ÍÛ×ÉÛÛéµÛ¶Û ¸ÛóÛé›÷éî¤ø¶ÛÛ …ÐéüÈÛÛÅÛÛé 
  (c) ÍÛ×ÉÛÛéµÛ¶Û ¸Ûȩ́ ÛÁõõ  (d) …Û ¸Ûíéïõà ©Û¾ÛÛ¾Û 
  Which of the following is a primary source of reference ? 

  (a) Thesis (b) Reports of research projects  

  (c) Research paper (d) All of these 
 

 (5) …×¼ÛÛÍÛ¨ÛÛïèõ©Û ïõÅÛÛ¸ÛÁõ”Û ïõÍÛÛé¤øà ¸ÛÁõ ¾ÛéÇÈÛéÅÛÛ ¸ÛóÛ¸©ÛÛ×ïõÛé¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ™öÛéïõÁõÛ…Ûé …¶Ûé 
™öÛéïõÁõà…Ûé¶Ûà ÍÛÁõÛÍÛÁõà…Ûé ÈÛ˜˜Ûé ÍÛÛ¬ÛÙïõ ©ÛºõÛÈÛ©Û ¶ÛÜÐü ÐüÛéýÛ. …Û Š©ïõÅ¸Û¶ÛÛ¶ÛÛé ¸ÛóïõÛÁõ 

  (a) Ü¼Û¶ÛÜþùÉÛÛÍÛæ̃ Ûïõ Š©ïõÅ¸Û¶ÛÛ (b) ¸ÛóÊ¶Û ÍÈÛÄõ¸Û Š©ïõÅ¸Û¶ÛÛ 
  (c) ÉÛÛÍªÛàýÛ Š©ïõÅ¸Û¶ÛÛõ  (d) ÈýÛÛÈÛÐüÛÜÁõïõ Š©ïõÅ¸Û¶ÛÛ 
  The hypothesis ‘there won’t be any significant difference between the scores 

gained on Ambasana art judgement test’ by boys and girls is  

  (a) Non directive hypothesis (b) Question form hypothesis 

  (c) Classical hypothesis (d) Operational hypothesis 
 

 (6) ÍÛ×ÉÛÛéµÛ¶Û þùÁõ”ÛÛÍ©Û¾ÛÛ× ÉÛé¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬Û©ÛÛé ¶Û¬Ûà ? 
  (a) ¸Ûè¬Û‘õÁõ¨Û ¸ÛóýÛäÜî©Û¶Ûà (b) ¾ÛÛÜÐü©Ûà …éïõªÛàïõÁõ¨Û¶Ûà Áõà©Û¶Ûà 
  (c) …½ýÛÛÍÛ¶ÛÛ× ©ÛÛÁõ¨ÛÛé¶Ûàõ  (d) Š¸ÛïõÁõ¨Û¶Ûà 
  Which of the following is not included in Research proposal ? 

  (a) Analysis techniques (b) Method of data collection 

  (c) Findings of the study (d) Tool 
 

 (7) ïõÛé̂  ÈÛÍ©Ûä ïéõ ÈýÛÜî©Û ïõÛé̂ ¸Û¨Û ÅÛ“Û¨Û ïéõ¤øÅÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× µÛÁõÛÈÛé ™öé ©Ûé ›Û¨ÛÈÛÛ ¾ÛÛ¤éø¶Ûä× ÍÛÛµÛ¶Û ™öé. 
  (a) …ÈÛÅÛÛéïõ¶Û (b) ÈÛÅÛ¨Û ¾ÛÛ¸Ûþ×ù¦ø 
  (c) ¸ÛóÊ¶ÛÛÈÛÜÅÛõ  (d) ’õ¾Û-¾ÛÛ¸Ûþ×ù¦ø 
  Any person or object is having a certain characteristic in what measure. To know 

this which tool is used ? 

  (a) Observation (b) Attitude scale 

  (c) Questionnaire (d) Rating scale 
 

 (8) ïõÛé̂  ”ÛÛÍÛ “ÛéªÛ¾ÛÛ× ïõÛ¾Û ïõÁõÈÛÛ¶Ûà “Û¾Û©ÛÛ ©Û¸ÛÛÍÛÈÛÛ ¾ÛÛ¤éø¶Ûà ïõÍÛÛé¤øà …é¤øÅÛé 
  (a) ÈýÛÜî©Û©ÈÛ ¾ÛÛ¸Û¶Û (b) ÜÍÛ±ùà ïõÍÛÛé¤øà 
  (c) …Ü½ÛýÛÛé•ýÛ©ÛÛ ïõÍÛÛé¤øàõ  (d) Ü¶ÛþùÛ¶Û ïõÍÛÛé¤øà 
  The test for testing competency in a very particular field is  

  (a) Personality test (b) Achievement test 

  (c) Aptitude test (d) Diagnosis test 
 

 (9) Š©ïõÅ¸Û¶ÛÛ …é¤øÅÛé…. 

  (a) ›÷ÈÛÛ¼ÛÄõ¸Ûé þùÉÛÛÙÈÛÛ©ÛÛé ïõÛ¾Û˜ÛÅÛÛŠ ¸ÛóÍ©ÛÛÈÛ ™öé. 
  (b) ÍÛ¾ÛÍýÛÛ¶ÛÛ ŠïéõÅÛ …×•Ûé¶Ûà ¼ÛÛíéÜ±ùïõ µÛÛÁõ¨ÛÛ ™öé. 
  (c) ¸ÛÜÁõ¨ÛÛ¾ÛÛé …×•Ûé¶ÛÛ ©ÛÛÜïÙõïõ …¶Ûä¾ÛÛ¶ÛÛé ™öé. 
 õ  (d) …Û ¸Ûíéïõà ©Û¾ÛÛ¾Û 
  Hypothesis means 

  (a) Tentative proposal 

  (b) Intellectual imagination of problem solution 

  (c) Logical assumption for results 

  (d) All of these 
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 (10) ïõÍÛÛé¤øà¶Ûà ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ ÈÛµÛä ÐüÛéýÛ ™öé. 
  (a) ›÷é ïõÅÛ¾ÛÛé¶Ûä× ÍÛÁõÇ©ÛÛ ¾ÛæÅýÛ 0.4 ¬Ûà 0.6 ÈÛ˜˜Ûé ÐüÛéýÛ. 
  (b) ïõÅÛ¾ÛÛé¶Ûà ½Ûéþù¸ÛÁõ”Û ÉÛÜî©Û ÿ˜Ûà ÐüÛéýÛ. 
  (c) ïõÅÛ¾ÛÛé ÍÛ¾ÛÛ×•Û ÐüÛéýÛ. 
 õ  (d) …Û ¸Ûíéïõà ©Û¾ÛÛ¾Û 
  The test items have more reliability  

  (a) The items which have facility value between 0.4 to 0.6 

  (b) The items which have higher discrimination power (index) 

  (c) Items are homogeneous 

  (d) All of these 
 

 (11) ©ÛÛÁõÈÛ¨Ûà ¾ÛæÅýÛ …é¤øÅÛé…. 

  (a) ÐüÛéÜÉÛýÛÛÁõ …¶Ûé ¶Û¼ÛÇÛ× ¸ÛÛªÛÛé¶Ûé …ÅÛ•Û ïõÁõ©Ûä× ½Ûéþù¸ÛÁõ”Û ¾ÛæÅýÛ 
  (b) ïõÅÛ¾Û ïéõ¤øÅÛà ÍÛÁõÇ ™öé ©Ûé þùÉÛÛÙÈÛ©ÛÛé …Û×ïõ 
  (c) ïõÅÛ¾ÛÛé¶Ûà ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ þùÉÛÛÙÈÛ©ÛÛé …Û×ïõ 
 õ  (d) …Û ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÜÐü. 
  Discrimination index means 

  (a) The value discriminating clever and weak students 

  (b) The index showing how simple the item is  

  (c) The index showing reliability of the item 

  (d) None of these 
 

 (12) ïõÍÛÛé¤øà¶Ûà ÍÛÁõÇ ïõÅÛ¾ÛÛé ¾ÛÛ¤éø ïõˆ ÜÈÛ•Û©Û ÍÛÛ˜Ûà ™öé ? 
  (a) ©Ûé¶Ûä× ½Ûéþù¸ÛÁõ”Û ¾ÛæÅýÛ ÿ˜Ûä× ÐüÛéýÛ ™öé.  
  (b) ©Ûé¶Ûä× ½Ûéþù¸ÛÁõ”Û ¾ÛæÅýÛ ¶Ûà˜Ûä× ÐüÛéýÛ ™öé. 
  (c) ©Ûé¶Ûä× ïõÜ¥ø¶Û©ÛÛ ¾ÛæÅýÛ ¶Ûà˜Ûä× ÐüÛéýÛ ™öé.õ   
  (d) ©Ûé¶Ûä× ïõÜ¥ø¶Û©ÛÛ ¾ÛæÅýÛ ÿ˜Ûä× ÐüÛéýÛ ™öé. 
  Which of the following is true for simple test items ? 

  (a) Their discrimination index is higher. 

  (b) The discrimination index is lower. 

  (c) Their difficulty value is lower. 

  (d) Their difficulty value is higher. 
 

 (13) ¸ÛÜÁõÈÛ©ÛÙïõ ˜ÛÅÛé …ÍÛÁõ ïõÁõà ™öé ©ÛéÈÛä× îýÛÛÁéõ ïõÐüà ÉÛïõÛýÛ ? 

  (a) ÍÈÛ©Û×ªÛ ˜ÛÅÛ¶Ûà ¼ÛµÛà ïõ“ÛÛ…Ûé¾ÛÛ× ÍÛ¾ÛÛ¶Û ÍÛ×¼Û×µÛ ›ÛéÈÛÛ ¾ÛÇé. 
  (b) ÍÈÛ©Û×ªÛ ˜ÛÅÛ¶Ûà ¼ÛµÛà ïõ“ÛÛ…Ûé¾ÛÛ× ÍÛ¾ÛÛ¶Û ÍÛ×¼Û×µÛ ¶Û ›ÛéÈÛÛ ¾ÛÇé. 
  (c) ¸ÛÜÁõÈÛ©ÛÙïõ ˜ÛÅÛ¶Ûà ¼ÛµÛà ïõ“ÛÛ…Ûé¾ÛÛ× ÍÛ¾ÛÛ¶Û ÍÛ×¼Û×µÛ ›ÛéÈÛÛ ¾ÛÇé. 
 õ  (d) ¸ÛÜÁõÈÛ©ÛÙïõ ˜ÛÅÛ¶Ûà ¼ÛµÛà ïõ“ÛÛ…Ûé¾ÛÛ× ÍÛ¾ÛÛ¶Û ÍÛ×¼Û×µÛ ›ÛéÈÛÛ ¶Û ¾ÛÇé. 
  How can we say that moderator variable has effected ?  

  (a) Equal relation found in all levels of independent variable. 

  (b) Equal relation not found in all levels of independent variable. 

  (c) Equal relations found in all levels of moderator variable. 

  (d) Equal relation not found in all levels of moderator variable. 



004-004101 4  

 (14) ïõýÛÛ ¸ÛóïõÛÁõ¶Ûà ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ ÉÛÛéµÛÈÛÛ¾ÛÛ× ¼Ûé ¸ÛÁõà“ÛïõÛé ¸ÛÛÍÛé ïõÁõÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ¾ÛæÅýÛÛ×ïõ¶Û 
ÈÛ˜˜Ûé¶ÛÛé ÍÛÐüÍÛ×¼Û×µÛ ÉÛÛéµÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  (a) Ü³ù.ÜÈÛ½ÛÛ›÷¶Û ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ (b) ïõÍÛÛé¤øà ¸Ûä¶Û: ïõÍÛÛé¤øà 
  (c) ïäõ¦øÁõ ÜÁõ˜Û¦ÙøÍÛ¶Û ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛõ  (d) •Ûä̈ ÛÛ×ïõ¶Ûïõ©ÛÛÙ ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ 
  In which type of reliability the co-relation is found between the scores of two 

examiners ?  

  (a) Split half (b) Test retest 

  (c) Kuder Richardson (d) Scorer reliability 
 

 (15) ¼ÛäÜ±ù ïõÍÛÛé¤øà ¾ÛÛ¤éø ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛ ¸ÛóïõÛÁõ¶Ûà ¸Ûó¾ÛÛ¨Û½Ûæ©Û©ÛÛ …ÛÈÛÉýÛïõ ¶Û¬Ûà ?   
  (a) ÜÈÛÌÛýÛÈÛÍ©Ûä ¸Ûó¾ÛÛ¨Û½Ûæ©Û©ÛÛ (b) –Û¤øïõ ¸Ûó¾ÛÛ¨Û½Ûæ©Û©ÛÛ 
  (c) …Û•ÛÛÐüàÍÛæ̃ Ûïõ ¸Ûó¾ÛÛ¨Û½Ûæ©Û©ÛÛõ  (d) ÍÛÐüÍÛÛ¾ÛÛÜýÛïõ ¸Ûó¾ÛÛ¨Û½Ûæ©Û©ÛÛ 
  Which of the following validity is not required for intelligence ? 

  (a) Content validity (b) Component validity 

  (c) Forecasting validity (d) Co-current validity 
 

 (16) …ÈÛÅÛÛéïõ¶Û¶Ûà ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ ÈÛµÛÛÁõÈÛÛ…. 

  (a) …éïõ ›÷ ÈýÛÜî©Û¶ÛÛ ÈÛµÛÛÁéõ ÈÛ”Û©Û …ÈÛÅÛÛéïõ¶ÛÛé ÅÛéÈÛÛ ›Ûé̂ …é. 
  (b) ¸ÛÛªÛ¶Ûà ›Û¨Û ¼ÛÐüÛÁõ …ÈÛÅÛÛéïõ¶ÛÛé ÅÛéÈÛÛ¬Ûà 
  (c) …Ûé™öà ÈýÛÜî©Û…Ûé¶ÛÛ …ÈÛÅÛÛéïõ¶ÛÛé ÅÛéÈÛÛ¬Ûà 
 õ  (d) Š¸ÛÁõÛéî©Û ¸Ûíéïõà ©Û¾ÛÛ¾Û 
  To increase reliability of observation 

  (a) One person should be observed many times. 

  (b) Observation should be done without attention of subjects. 

  (c) Taking less person for observations  

  (d) All of these 
 

 (17) ÍÛä“¾Û …µýÛÛ¸Û¶Û ïõÛíéÉÛÅýÛ¶ÛÛ …½ýÛÛÍÛ ¾ÛÛ¤éø ïõýÛä× Š¸ÛïõÁõ¨Û ýÛÛé•ýÛ ™öé ? 
  (a) ÈÛÅÛ¨Û ¾ÛÛ¸Ûþ×ù¦ø (b) ’õ¾Û-¾ÛÛ¸Ûþ×ù¦ø 
  (c) …ÈÛÅÛÛéïõ¶Ûõ  (d) …Ü½ÛýÛÛé•ýÛ©ÛÛ ïõÍÛÛé¤øà 
  Which of the tool is useful for the study of micro teaching ? 

  (a) Attitude scale (b) Rating scale 

  (c) Observation (d) Aptitude test 
 

 (18) ÍÛ×ÉÛÛéµÛ¶Û¾ÛÛ× ›÷é¶Ûà …ÍÛÁõ¶Ûà µÛÛÁõ¨ÛÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ©Ûé ˜ÛÅÛ. 
  (a) …×ïäõÜÉÛ©Û (b) ¸ÛÜÁõÈÛ©ÛÙïõ 
  (c) ÍÈÛ©Û×ªÛõ  (d) …Û×©ÛÁõÈÛ©Ûâ 
  The variable which is supposed to be effective in research is  

  (a) Controlled (b) Moderating 

  (c) Independent (d) Interveining 
 

 (19) ¾ÛæÅýÛÛ×ïõ¶Û ¸ÛªÛ …é¤øÅÛé 
  (a) ÈÛÅÛ¨Û ¾ÛÛ¸Ûþ×ù¦ø (b) •Ûä̈ ÛÛ©¾Ûïõ …éïõ¾Û¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÈÛÛ¶Ûä× Š¸ÛïõÁõ¨Û 
  (c) ÍÛÛ×Ü”ýÛïõ ’õ¾Û-¾ÛÛ¸Ûþ×ù¦øõ  (d) ÐüÛ›÷Áõà ©Û¸ÛÛÍÛÈÛÛ ¾ÛÛ¤éø¶Ûä× Š¸ÛïõÁõ¨Û 
  Evaluation letter means 

  (a) Attitude scale (b) Tool for evaluating qualitative unit 

  (c) Numerical rating scale (d) Tool for checking presence 
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 (20) Š¸ÛïõÁõ¨Û Áõ˜Û¶ÛÛ¾ÛÛ× ¸ÛæÈÛë“Û¨Û ÈÛ¦éø…. 

  (a) ïõÅÛ¾ÛÛé¶Ûä× ïõÜ¥ø¶Û©ÛÛ¾ÛæÅýÛ ÉÛÛéµÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 
  (b) ïõÅÛ¾ÛÛé¶Ûä× ©ÛÛÁõÈÛ¨Ûà¾ÛæÅýÛ ÉÛÛéµÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 
  (c) ïõÅÛ¾ÛÛé¶Ûà ÍÛäµÛÛÁõ¨ÛÛ …×•Ûé¶ÛÛ ÍÛæ̃ Û¶ÛÛé ¾ÛÇé ™öé. 
 õ  (d) ïõÅÛ¾ÛÛé¶Ûà ¸ÛÍÛ×þù•Ûà¶ÛÛé Ü¶Û¨ÛÙýÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 
  By piloting in tool construction, 

  (a) Difficulty values of items are found. 

  (b) Discrimination index of items are found. 

  (c) Suggestions for improving items can be received. 

  (d) Decision of selection of items is taken. 

 

     ÜÈÛ½ÛÛ•Û-II/SECTION – II 50 
 

1. (1) ÜÅÛïõ¤Ùø ¸Û±ùÜ©Û…é ÈÛÅÛ¨Û ¾ÛÛ¸Ûþ×ù¦ø Áõ˜ÛÈÛÛ¶Ûà ¸Û±ùÜ©Û¶ÛÛ× ÍÛÛȩ́ ÛÛ¶ÛÛé ›÷¨ÛÛÈÛÛé. 
  State the stages of construction of attitude scale according to Lickert Method.  

…¬ÛÈÛÛ/OR 
  ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ˜ÛÅÛÛé¶Ûé µýÛÛ¶Û¾ÛÛ× ÁõÛ”Ûà, ©Ûé¶Ûà ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× ›÷ÈÛÛ¼ÛÛé ÅÛ”ÛÛé : 
  Answer the following questions with reference to the following variable. 

  (a) ïõÛýÛÛÙ¶Ûä½ÛÈÛ 
   work experience 

  (b) ïõÛýÛÙÜÍÛ±ùà 
   success 

  (c) ÜÈÛÍ©ÛÛÁõ 
   area 

  (d) ›Û©ÛàýÛ©ÛÛ 
   sex 

  (1) a ¶Ûé ÍÈÛ©Û×ªÛ ˜ÛÅÛ …¶Ûé b ¶Ûé ¸ÛÁõ©Û×ªÛ ˜ÛÅÛ þùÉÛÛÙÈÛà, Ü¼Û¶Û ÜþùÉÛÛÍÛæ̃ Ûïõ Š©ïõÅ¸Û¶ÛÛ ÅÛ”ÛÛé. 
   Write one non-directive hypothesis by keeping ‘a’ as independent variable 

and ‘b’ as dependent variable. 

  (2) a ¶Ûé ÍÈÛ©Û×ªÛ ˜ÛÅÛ, b ¶Ûé ¸ÛÁõ©Û×ªÛ ˜ÛÅÛ ©Û¬ÛÛ d ¶Ûé …×ïäõÜÉÛ©Û ˜ÛÅÛ ©ÛÁõàïéõ þùÉÛÛÙÈÛà ÜþùÉÛÛÍÛæ̃ Ûïõ 
Š©ïõÅ¸Û¶ÛÛ ÅÛ”ÛÛé. 

   Keep ‘a’ as independent variable, ‘b’ as dependent variable and ‘d’ as 

controlled variable and prepare a directive hypothesis. 

  (3) a ¶Ûé ÍÈÛ©Û×ªÛ ˜ÛÅÛ, b ¶Ûé ¸ÛÁõ©Û×ªÛ ˜ÛÅÛ …¶Ûé d ¶Ûé ¸ÛÜÁõÈÛ©ÛÙïõ ˜ÛÅÛ ©ÛÁõàïéõ þùÉÛÛÙÈÛà, ÉÛæ¶ýÛ 
Š©ïõÅ¸Û¶ÛÛ Áõ˜ÛÛé. 

   Keep ‘a’ as independent variable, ‘b’ as dependent variable, ‘d’ as 

moderator variable, write a null hypothesis. 

  (4) d ¶Ûé ÍÈÛ©Û×ªÛ ˜ÛÅÛ ©Û¬ÛÛ b ¶Ûé ¸ÛÁõ©Û×ªÛ ˜ÛÅÛ ©ÛÁõàïéõ þùÉÛÛÙÈÛà, ÍÛ×ÉÛÛéµÛ¶Û Š©ïõÅ¸Û¶ÛÛ Áõ˜ÛÛé.  
   Keep ‘d’ as independent variable, ‘b’ as dependent variable and write a 

research hypothesis. 
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  (5) a ¶Ûé ÍÈÛ©Û×ªÛ ˜ÛÅÛ, b ¶Ûé ¸ÛÁõ©Û×ªÛ ˜ÛÅÛ ©Û¬ÛÛ c ¶Ûé …×ïäõÜÉÛ©Û ˜ÛÅÛ ©ÛÁõàïéõ þùÉÛÛÙÈÛà, ÉÛÛÍªÛàýÛ 
Š©ïõÅ¸Û¶ÛÛ Áõ˜ÛÛé.  

   Keep ‘a’ as independent variable, ‘b’ as dependent variable, ‘c’ as 

controlled variable and write classical hypothesis. 

  (6) a ¶Ûé ÍÈÛ©Û×ªÛ ˜ÛÅÛ, b ¶Ûé ¸ÛÁõ©Û×ªÛ ˜ÛÅÛ ©Û¬ÛÛ c ¶Ûé ¸ÛÜÁõÈÛ©ÛÙïõ ˜ÛÅÛ ©ÛÁõàïéõ þùÉÛÛÙÈÛà ÉÛæ¶ýÛ 
Š©ïõÅ¸Û¶ÛÛ Áõ˜ÛÛé. 

   Keep ‘a’ as independent variable, ‘b’ as dependent variable and ‘c’ as 

moderating variable and prepare a null hypothesis.    

 
2. ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõÛé̂ ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …ÛÉÛÁéõ 250 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 
 Answer any two of the following questions in about 250 words each : 

 (1) ¬ÛÍ¤Ùø¶Û ¸Û±ùÜ©Û…é ÈÛÅÛ¨Û ¾ÛÛ¸Ûþ×ù¦ø¶Ûà Áõ˜Û¶ÛÛ¾ÛÛ× ¶Ûà˜Ûé¶Ûà ¸ÛóÜ’õýÛÛ ÍÛ¾Û›ÛÈÛÛé. 
  Explain the following process in the construction of attitude scale through 

Thurstone method. 

  (a) ÜÈÛµÛÛ¶ÛÛé¶ÛÛ× ¾ÛÛ¸Û¾ÛæÅýÛ¶Ûà •Û¨Û©ÛÁõà ÍÛ¾Û›ÛÈÛÛé.  

   Explain the statement scale value calculation. 

  (b) ÜÈÛµÛÛ¶ÛÛé¶Ûä× ýÛÛþùÍ¬Û ÜÈÛ˜ÛÅÛ¶Û ¾ÛÛé¤ä×ø …ÛÈÛé ©ÛÛé ©Ûé¶ÛÛé ÉÛÛé …¬ÛÙ ¬ÛÛýÛ ©Û¬ÛÛ …Û ¸ÛóïõÛÁõ¶ÛÛ 
ÜÈÛµÛÛ¶ÛÛé¶Ûà ¸ÛÍÛ×þù•Ûà …×•Ûé¶ÛÛé Ü¶Û¨ÛÙýÛ ›÷¨ÛÛÈÛÛé. 

   If the random deviation of statement found large, it show what ? Mention 

the reason for selection of this type of statements. 

  (c) ÜÈÛµÛÛ¶ÛÛé¶Ûà …¸ÛóÍ©Ûä©ÛÛ ïéõÈÛà Áõà©Ûé ˜ÛïõÛÍÛÉÛÛé ©Ûé ÍÛ¾Û›ÛÈÛÛé. 
   How would you examine the misrepresentation of statements ? Explain. 

 (2) ïõÅÛ¾Û ¸Ûè¬Û‘õÁõ¨Û …×•Ûé¶Ûà ¶Ûà˜Ûé¶Ûà ¸ÛóÜ’õýÛÛ…Ûé ÍÛ¾Û›ÛÈÛÛé : 
  Explain the following process about item analysis. 

  (a) …éïõ ïõÅÛ¾Û¶Ûä× ïõÜ¥ø¶Û©ÛÛ ¾ÛæÅýÛ 0.70 ™öé …¶Ûé ¼Ûàœ÷ ïõÅÛ¾Û¶Ûä× ïõÜ¥ø¶Û©ÛÛ ¾ÛæÅýÛ 0.60 ™öé. …Û 
ïõÅÛ¾Û ¸Ûíéïõà ïõˆ ïõÅÛ¾Û ÍÛÁõÇ •Û¨ÛÛýÛ ? ÉÛÛ ¾ÛÛ¤éø ? 

   One test item is difficulty value is 0.70 and the other one is with 0.60 

which item will be easier ? Why ? 

  (b) …éïõ ïõÅÛ¾Û¶Ûä× ½Ûéþù¸ÛÁõ”Û ¾ÛæÅýÛ 0.40 ™öé …¶Ûé ¼Ûàœ÷ ïõÅÛ¾Û¶Ûä× ½Ûéþù¸ÛÁõ”Û ¾ÛæÅýÛ 0.50 ™öé. 
ïõˆ ïõÅÛ¾Û ¸ÛÍÛ×þù•Ûà ¾ÛÛ¤éø ýÛÛé•ýÛ •Û¨ÛÛýÛ ? ÉÛÛ ¾ÛÛ¤éø ? 

   The discrimination index of one item is with 0.40 and the other item is with 

0.5 then which item will be proper to select ? why ? 

  (c) ÜÈÛïõÌÛÙïõÛé¶Ûà …ÍÛÁõïõÛÁõïõ©ÛÛ ˜ÛïõÛÍÛ©Ûà ÈÛ”Û©Ûé ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ ¸ÛÜÁõ¨ÛÛ¾ÛÛé ›ÛéÈÛÛ ¾ÛÇé ©ÛÛé ©Ûé 
ÜÈÛïõÌÛÙïõ ¶Û¼ÛÇÛé •Û¨ÛÛýÛ ©ÛéÈÛÛ ¼Ûé ¸ÛÜÁõ¨ÛÛ¾ÛÛé ›÷¨ÛÛÈÛÛé.  

   Which results show that the distracter is weak ? Give such two results.   

 (3) ¸ÛóÊ¶ÛÛÈÛÜÅÛ …×•Ûé ¶Ûà˜Ûé¶ÛÛ ¾Ûä°ùÛ…Ûé ˜Û˜ÛÛë :   
  Discuss the following points about questionnaire : 

  (i) ¸ÛóÊ¶ÛÛÈÛÜÅÛ …Û¸ÛÈÛÛ¶Ûà Áõà©ÛÛé …¶Ûé ©Ûé¶ÛÛ •Ûä̈ ÛþùÛéÌÛÛé 
   The methods of giving questionnaire and their merits and demerits. 

  (ii) ¸ÛóÊ¶ÛÛÈÛÜÅÛ ½ÛÁõÛˆ¶Ûé ¸ÛÁõ©Û …ÛÈÛé ©Ûé ¾ÛÛ¤éø¶ÛÛ× ÍÛæ̃ Û¶ÛÛé  
   The suggestions (instruction) for getting filled questionnaire book. 

  (iii) ¸ÛóÊ¶ÛÛÈÛÜÅÛ¶ÛÛ× •Ûä̈ ÛþùÛéÌÛ 
   Merits and demerits of questionnaire. 
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3. ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõÛé̂ ¸Û¨Û ªÛ¨Û ¸ÛóÊ¶ÛÛé¶ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé :   
 Answer any three from the following : 

 (1) ÜÈÛÊÈÛÍÛ¶ÛàýÛ©ÛÛ¶ÛÛ ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain the types of reliability. 

 (2) ÍÛ×ÉÛÛéµÛ¶Û ¸ÛóÜ’õýÛÛ¶ÛÛ× ÍÛÛȩ́ ÛÛ¶ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain the steps of research process. 

 (3) ËÛé̈ Ûà ¾ÛÛ¶ÛÛ×ïõÛé …¶Ûé ¸ÛóÜ©ÛÉÛ©Û ’õ¾ÛÛ×ïõ ¾ÛÛ¶ÛÛ×ïõÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain series norms and percentile norms. 

 (4) ÍÛºõÇ ¾ÛäÅÛÛïõÛ©Û ¾ÛÛ¤éø¶Ûà …ÛÈÛÉýÛî©ÛÛ ÍÛ¾Û›ÛÈÛÛé. 
  Give essential details for successful interview. 

 (5) ¾ÛæÅÛ•Û©Û …¶Ûé ÈýÛÛÈÛÐüÛÜÁõïõ ÍÛ×ÉÛÛéµÛ¶Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 
  Explain the meaning of basic and applied research. 

 

4. ýÛÛé•Û ïõÛýÛÙ’õ¾Û¶Ûà ÍÛ×Áõ˜Û¶ÛÛ …¶Ûé ©Ûé¶Ûà ¸ÛóÛ¬ÛÜ¾Ûïõ ÉÛÛÇÛ¶ÛÛ ÜÈÛ²Û¬Ûâ…Ûé¶ÛÛ …µýÛýÛ¶Û ÁõÍÛ …¶Ûé µýÛÛ¶Û- 
ïéõÜ¶®ù©Û©ÛÛ ¸ÛÁõ¶Ûà …ÍÛÁõïõÛÁõïõ©ÛÛ …Û ÉÛàÌÛÙïõ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 

 Construction of yog programme and its effectiveness on learning interest, and 

alternativeness of primary school children. Give the following answers with reference 

to above mentioned title : 
 (1) Š¸ÛÁõÛéî©Û ÍÛ×ÉÛÛéµÛ¶Û¶ÛÛ ¼Ûé Ðéü©Ûä…Ûé ÅÛ”ÛÛé. 
  Write two objective for above mentioned title. 

 (2) …½ýÛÛÍÛ¾ÛÛ× ÍÛ¾ÛÛÈÛéÅÛ ÍÈÛ©Û×ªÛ ˜ÛÅÛ þùÉÛÛÙÈÛÛé. 
  State independent variable involved in the study.  

 (3) …½ýÛÛÍÛ¾ÛÛ× ÍÛ¾ÛÛýÛéÅÛ ¸ÛÁõ©Û×ªÛ ˜ÛÅÛ þùÉÛÛÙÈÛÛé. 
  State dependent variable involved in the study.  

 (4) ÍÛ×ÉÛÛéµÛ¶Û¶Ûà ¸Û±ùÜ©Û ïõˆ ™öé ? 
  Which Research Method is this ? 

 (5) ÈýÛÛ¸ÛÜÈÛÊÈÛ ïõÛé̈ Û ™öé ? 
  What is Population ? 

 (6) ïõÛé̂  …éïõ ÉÛæ¶ýÛ Š©ïõÅ¸Û¶ÛÛ Áõ˜ÛÛé. 
  Prepare any one Null Hypothesis. 

 (7) ïõÛé̂  …éïõ Š¸ÛïõÁõ¨Û þùÉÛÛÙÈÛÛé. 
  State any one ‘tool’ for this. 

_______________ 
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